f KT K A

102 X|==

0| =: - =E
10% = 2.07 x 10* =

-2x10° = 5.55x 10° =

—2x10= 10° =

4x10° = 10° =

7% 10° = 7% 10% =

9.56 + 10% = 10% =

6.59 + 10* = _1x10° =

135+10° = 6.79 x 10° =

8 x 10* = 738+ 10° =

8.65+10° = 0% 102 =
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f KD X A

102] X| ==
ol E: SR Ha
10* = 10000 2.07 x 10* = 20700
—2 x 10° = 2000 5.55x 10" =5.55
—2x10=-20 10° = 1000000
4 x 10° = 4000 10° = 1000

7 x 10° = 700000
9.56 + 10* = 0.0956
6.59 + 10* = 0.0659
1.35+10° = 0.00135
8 x 10* = 80000

8.65+10° = 0.00865

7 x 10* = 70000

10* = 10000

—1 % 10° = —1000
6.79 x 10° = 6790
7.38 = 10° = 0.00738

9 x 10> = 900
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